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Question 1.Select the related word/letters/numbers from the given alternatives:
e o faremenl & @ Hafeer eree/ sweRi/dear A 9T
Money : Poverty : : Education: ?

&7 : gRgdT :: T ?

Options:

1) Knowledge

EiGE

2) Greediness

olTeT=r

3) Illiteracy

foaRar

4) Unsuccess
AT

Correct Answer: Illiteracy
[GEIG

Candidate Answer: Illiteracy
foReRar

Question 2.Select the related word/letters/numbers from the given alternatives:
&3 T fashol & O TefetreT Qse/37&RT/HEdT Y YiAT|

BEF : GIK: : LOP:?

Options:
1) QUV

2) QTU
3) QST

4) QUT
Correct Answer: QTU
Candidate Answer: QTU

Question 3.Select the related word/letters/numbers from the given alternatives:
&3 7 ool & & Hafetra 2ree) 3Ri/dedr &1 giav|

8:32::7:108

Options:

1) 22

2) 24

3) 27

4) 29
Correct Answer: 27
Candidate Answer: 27

Question 4.

For the following questions
Find the odd words/letters/number from the given alternatives.
few a1v fasredt & & fawer aree)/3ery/dea # 9w
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Options:
1) CZHK

2) MLAG
3) XVBU

4) SEND
Correct Answer: CZHK
Candidate Answer: SEND

Question 5.

For the following questions

Find the odd words/letters/number from the given alternatives.

Rw 1w faeredt # & fawer erse) 3mw/dear # gl
Options:

1) Lion

R

2) Panther

QLS

3) Tiger

T

4) Wolf

Az

Correct Answer: Wolf
Az

Candidate Answer: Wolf
afsar

Question 6.

For the following questions

Find the odd words/letters/number from the given alternatives.

3T 1T faehodl & & Tawe efee)31&T/HE1 I8 I AU

Options:
1) 5,124
2) 7,342
3) 3,26
4) 2,15

Correct Answer: 2,15
Candidate Answer: 2,15

Question 7.Arrange the following words as per order in the dictionary.

Tere=Tfollere ereel &1 Aseehiel 7 T 91T e & e o
1. Preach

2. Praise

3. Precinet

4. Precept

5. Precede

Options:
1)2,1,5,4,3

2)2,1,3,45
3)2,51,43

4)1,2,5,4,3
Correct Answer: 2, 1,5,4,3
Candidate Answer: 2, 1,5, 4, 3

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

e e et & woh Jiefsha fem 1T 8, foraat Ueh ve et &1 fw a1e fashed # & ag T fashed GiAw St 3egshar sl 97 Hamm
BCF, CFI, DHL, ?
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Options:
1) BJO
2) CIM
3) EML

4) EMI
Correct Answer: EJO
Candidate Answer: EJO

Question 9.In the following question, one term in the number series is wrong. Find out the wrong term?
TR wesd 7, TEAT-5Eell 7 Teh AT ITeld & ITeld TE&AT TdAST

5, 10, 40, 80, 320, 550, 2560
Options:

1) 80

2) 320

3) 550

4) 2560
Correct Answer: 550
Candidate Answer: 550

Question 10.A prime number between 10 and 50 remains unchanged if its digits are reversed. Then the square of such a number is:

10 & 50 & ST T T/ 39T TEAT WA § T 371 1 e 3ot fear se o of Twar & 8 gRadsT =T8T gldT| 39 T&IT 7 997 a0 ?
Options:

1) 121

2) 484

3) 1089

4) 1936
Correct Answer: 121
Candidate Answer: 121

Question 11.Gopal is older than Mohan but younger than Ram. Mohan is older than Sohan but younger than Ram. Who is the oldest?

AT, Aigel § 37 3] T & BIeT &1 HgeT, Weel A 937 o] TH A DT &1 37 & Foh o7 hieT & ?
Options:

1) Gopal

e

2) Mohan

gl

3) Ram

aJH

4) Sohan

TigaT

Correct Answer: Ram
qH

Candidate Answer: Ram
TqH

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

el fashedl & @ dg 2lee iU S T 1T 2feg & 3R 1 TGN hieh 761 ST SIT Fehell ?
ENDEAVOUR

Options:

1) Devour

2) Round

3) Drown

4) Drove
Correct Answer: Drown
Candidate Answer: Drown

Question 13.In a certain code GIVE is written as VIEG and OVER is written as EVRO. How will DISK be written in that code?

el e # GIVE 1 VIEG & %9 # for@r S71ar & 3 OVER T EVRO & &9 # for@r Sira 81 38 e 7 DISK &t & fargar ?
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Options:
1) SIDK

2) KISD
3) KDSI

4) SIKD
Correct Answer: SIKD
Candidate Answer: SIKD

Question 14.If A denotes '+', B denotes '-', C denotes 'x' and D denotes '+', then which of the following statement is true?

gfe A &7 3T '+' §, B &7 3T '-' §, C I 3T 'X' §, 3R D I 37T '+ §, Y eIl HUT Tgr g ?

Options:
1) 8B6D2A4C3 = 15

2) 8A8BSCS = -48
3) 9CIBIDYAI = 17

4) 3A3B3C3A3D3 =4
Correct Answer: 8A8B8C8 = -48
Candidate Answer: 8A8B8C8 = -48

Question 15.1In this question, some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst the four
alternatives for the unsolved equation.

FS THROT U ARG JoTel & el T 1T &1 30 MR WX few 91¢ fashedl # & #eY 3 g faf@e
462 = 551

398 = 487

856 =7

Options:

1) 745

2)773

3) 945

4) 743
Correct Answer: 945
Candidate Answer: 945

Question 16.Find the missing number in the series
18T 71T faehodt & & oo HET A1 HIfoTw

8 6 7
9 13 | 11
3 7| ?

Options:
1)5

2)6
3)7

4)8
Correct Answer: 5
Candidate Answer: 5

Question 17.Prem starts to school from his house and walks 400 metres towards north, turns left and walks 100 metres, turns left and walks 200 metres, turns left
and walks 100 metres. How far he is away from his house?

UH 39 B @ Ehel o foIw foveneln 31X 3eck A1 31X 400 #rex well, T a1 3 100 Hiex =relr, 3R B SR 5o 200 Al well| 3id A a8 T & 9 7737 3R 100 #Aiex
ATl S 98 I B el gy 8§ ?
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Options:

1) 100 m

100 #rex

2) 300 m

300 #Hiex

3) 200 m

200 #eX

4) 250 m

250 #Hex

Correct Answer: 200 m
200 #Hrex

Candidate Answer: 200 m
200 A

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: 1. All elephants are men.

2. All men are socks.

Conclusion I: Some socks are elephants.

Conclusion II: All elephants are socks.

AT UeaT 7 T IT & gFaed A 1 §, fwsh 31 & send/aAeaang, 1 3R 11 ferer 3 & 3m9e R ser & 6 goaey acg § I 98 aega: 4 a2 &
et I 2IaT &Yl 3T v T § 6 U 910 gy & & FiA-ar RiRad & & T8 Aehy/AeadT ool i TehdT ¢ ?
qeced : 1. Tl gl gew €

2. Tl & S E

sy : 1 3o s greh €1

1T T grelt el &1

Options:

1) Only Conclusion I follows

ool T [ @l

2) Only Conclusion II follows

el fseny I T8 &

3) Both Conclusions I and II follows

s 13 11 gt wér &

4) Neither conclusion I nor II follows

AT ar sy 1Ty & 3R AT &Y ARy 11 T B

Correct Answer: Both Conclusions I and II follows

ey 1 3R 11 3t T &

Candidate Answer: Both Conclusions I and II follows

ey I 3R 11 =t T 1

Question 19.How many triangles are there in the question figure?

& 718 3mepfer 31 ey Pt €2

Options:
1) 24

24

2) 36

36

3) 40

40

4) 44

44
Correct Answer: 40
40

Candidate Answer: 44
44

Question 20.Identify the diagram that best represents the relationship among classes given below: Editors, Professors and Men

a8 3G AT S i e orw gt & o gy aeaey # A § 2 FETes, The 3R g
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Options:

3)

4) o
(CT
@

Question 21.Which answer figure will complete the pattern in the question figure?

et A Seal MR T2t Jrpiat & gfaed i qu et ?

D
X
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Options:
1)

2)

K :
N
Y

Correct Answer:

i

Candidate Answer:

i

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded.

& 918 3eer Jpladt 7 & 38 g et ved g Afed €2
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Options:
1)

2)

Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

I el ret &, ) et ot F T 31TaR Als F Fer ST A @ieRt ¥ A1G a9 e Sead 3 Star s a2
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Options:
1)
A A
N v
2)
' <
<>

Correct Answer:

A
(.Y

<

Candidate Answer:

Question 24.1If a mirror is places on the line MN, then which of the answer figures is the right image of the given figure?

I T GUOT T MN X o T@T ST AT & 31§ Seaid Mot 7 8 HieT-Ar 3TfeT 92T P i [hr wferfassy giaft 2
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Options:
1)

of

2)

ot

-
-

)
=

o3 Eah

Correct Answer:

joi

Candidate Answer:

EO
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Question 25.In the question, a word is represented by only one set of humbers as given in any one of the alternatives. The sets of numbers given in the alternatives

are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are

numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'A’ can be represented by 04, 12, etc., and 'U'

can be represented by 59, 66, etc.
Similarly, you have to identify the set for the word 'ROOT'

AT weet # et 3 v a1 Fear-wp, 3&RT & ar a9it aan a2iie o1w §, S fo i fow a1w o smexggh 31 81 3megp 1 & Hefes 3R Iferd i §ear 0 ¥ 4 as &
TS T, RIS LI & 58 9 A, 37 3Gl § T &R T Tgol 3H0T Uiad IR 16 37 F997 HEAT GaRT GRITAT ST FehedT & | 3GTEROT & T, 'A’ FF 04, 12, 3TTE GaRT gefim

ST Hhell § T 'U' 3T 59, 66, 31T SR GRIT ST FehelT §1 38 ARG § JHTTeRT 4T 91T 2reg 'ROOT' & forw g o1 wgartet 81

MATRIX | MATRIX I
0 1| 2 3 4 5 B |7 8 9
0| B|€|D|E |A 5 R 0[N |T |U
i | D|E|A|B C 6 T |[U|R |O N
2|1 € |D|E|A|B 219 N | T |W |R
| A B E|D E g L (RO |N T
4 E A B & D 9 [N |T|U R |'©

Options:
1) 55, 56, 99, 59

2) 67, 68, 87, 66
3) 79, 75, 68, 77

4) 86, 87, 56, 88
Correct Answer: 79, 75, 68, 77
Candidate Answer: 79, 75, 68, 77

Question 26.Money transfer through mobile is called

Asel & ARY GeRIR F I 0T A FATFEA & ?

Options:
1) IFSC

2) ATM
3) IMPS

4) IFS
Correct Answer: IMPS
Candidate Answer: IMPS

Question 27.Which of the following was not a purpose for building Farakka Barrage?

AFATTET 3 & PleT-TT FFRT STST o TAHIOT T 32T FET AT ?
Options:

1) Checking water flowing into Bangladesh

STAICRT I TghT SleT dTel UTeT Y Aehadl

2) Checking silting of Kolkata Port

HICTHIAT ToEL3NE U NG & STHT I e ST

3) Preventing erosion of Kolkata Port

FHICTHIAT TeGLeNG o HIT T el

4) Facilitating navigation in Ganga river

T AE) # STETSH ST SATATSIET T FIF FeTell

Correct Answer: Facilitating navigation in Ganga river
3 AN H STETH T JATATSIET bl GIFe Feledl
Candidate Answer: [ NOT ANSWERED ]

Question 28.Who decides disputes regarding disqualification of members of Parliament?

G T I FFa=T Taarer s Hhaem Hlef FHAT§ ?

Options:

1) The Supreme Court

Hafea =amameT

2) The Election Commission

AT AT

3) The Prime Minister in Consultation with the Election Commission
AT ST I A TR

4) The President in Consultation with the Election Commission

AT ITAT T A o g

Correct Answer: The President in Consultation with the Election Commission

AT ST I ORI A ITsgafer
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Candidate Answer: The President in Consultation with the Election Commission

AT JATATT I oRAL AT ISgafer

Question 29.In forests, trees shed their leaves in a particular season.

=t 3 ga7 ve fARad Aiea 7 319w dedt & T a8
Options:
1) evergreen
HTSgR
2) mangrove
IRTeT
3) deciduous
qofaTelr
4) thorny
Herr

Correct Answer: deciduous

qoiaTer

Candidate Answer: deciduous

qoiaTer

Question 30.The famous poet Amir Khusrau was contemporary of all except following :

9ilig ia 3R GERY fAe=fal@re 7 & R Ueh T SIghT aThl Teeh T - Tt & ?
Options:

1) Alauddin Khilji

Jrem3Er fEerstr

2) Ghiyasuddin Balban
TAGEA Sersel

3) Iltutmish

FoaT AT

4) Jalaluddin Khilji

STeTefleT fEerel

Correct Answer: Iltutmish
EGGIGH)

Candidate Answer: [ NOT ANSWERED ]

Question 31.G-20 is the Group of Twenty largest economies represented by their

Sf-20 frea & wodr 931 A1 Jrdeaawmst & U Hp & foraen wfafeiftes Mefof@a 7 & e aanT frar s g ?
Options:

1) Prime Ministers only

2) Finance Ministers only

#ad [edAfear garr

3) Finance Ministers and Central Bank Governors

faed AfeTat qor Fearg S & TR g@rT

4) Heads of States

Tsgrealt ZanT

Correct Answer: Finance Ministers and Central Bank Governors
e AfAT TUT Feara da F TaeRT G@RT

Candidate Answer: Heads of States

ISLTETETT SaRT

Question 32.Cache memory works on the principle of

&g AN orw FgTed oY o T § 2
Options:

1) Locality of data

3rer i feufa

2) Locality of reference

e @ feafa

3) Locality of Memory

HAY i Rafa

4) Locality of Memory & reference
AANY 3R Inie S feafd

Correct Answer: Locality of reference
Twiw & feafa

Candidate Answer: Locality of data
reT 7 feafa
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Question 33.Where is the headquarters of National Film Archives of India (NFAI) located?

HRA & T s HHERIR (T T T 317$ ) 1 ATAT Fgl T & 2
Options:

1) Pune

il

2) Chennai

BN

3) Bangalore

CEICicy

4) Mumbai

Bt

Correct Answer: Pune

qor

k)

Candidate Answer: [ NOT ANSWERED ]

Question 34.In India, the Black Revolution is related to the manufacturing of which product?

AR A FUT hifect e 3eure & FafaHor & wrafeerd § 2
Options:

1) Charcoal

FIGDRICT

2) Crude petroleum

Fear dgiferA

3) Diamond

&

4) Black gram

SHlell TedT

Correct Answer: Crude petroleum
Fear o

Candidate Answer: Crude petroleum

Foar Sgifera

Question 35.Who introduced Western education?

YR RIET &1 Aerorer fha Tadeaar Al garT T arar ?
Options:

1) Raja Ram Mohan Roy

TSI T Higet T

2) Lal Bahadur Shastri

Tl TETET AR

3) Netaji Subhash Chandra Bose

AT GHIaeS &

4) Sardar Vallabhai Patel

TER Toeld HIS geel

Correct Answer: Raja Ram Mohan Roy
ST T Higet T

Candidate Answer: [ NOT ANSWERED ]

Question 36.Bridgmanite is

oS FAT § ?

Options:

1) A bridge on the river Thames

R FHE TR T el

2) Name of a game

Teh Wl & ATH

3) Earth's most abundant mineral

ERCY IX FA1TO AT & 90 ST arel @ieisT &l AT
4) Name of a music

T YR & Il & o1

Correct Answer: Earth's most abundant mineral

eRAT 9T AT AT & 910 ST aTel @ieTsT &l =73
Candidate Answer: [ NOT ANSWERED ]

Question 37.The 18th Asian Games also known as 'Asiad' will be held in 2018 in

TR & 1A & faeard 184 viRs Qelt &1 3T 2018 & gl v Sreer ?
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Options:
1) Bangkok
Ceoca
2) Jakarta
ST
3) Beijing
SfStar
4) Seoul
aver
Correct Answer: Jakarta
STRIAT
Candidate Answer: Jakarta
STRTAT

Question 38.The Asiatic Society was established in Calcutta by -

FethedT # TiRfes BRRIEY Y FAIAT fohaeh garT Y TS ?
Options:

1) Warren Hastings

ana s

2) Sir William Jones

w fafeas s

3) Raja Ram Mohan Roy

ST TH HAgel T

4) Macaulay

Helor

Correct Answer: Sir William Jones
w fafoms s

Candidate Answer: Warren Hastings

ane gfecsw
Question 39.Kutir Jyoti Scheme is associated with

g:az S e fraw geafeed § ?

Options:

1) Promoting cottage industry in villages

alialt & HER 3N T FedrE=!

2) Promoting employment among rural unemployed youth
AT RSN Jaohi 7 ASTTR HF Hcdeat

3) Providing electricity to rural families living below poverty line
T YT & e T & AT IRaRT i fasten e

4) All of these

3Fd Gl

Correct Answer: Providing electricity to rural families living below poverty line

T YT A e &6 & qreor IRERT @ fasten &

Candidate Answer: Providing electricity to rural families living below poverty line

T YT § AT T & areor IRERT @ fasten e

Question 40.The system of Budget was introduced in India during the Viceroyalty of -

mﬁmmﬂmmma?mﬁgaﬂ ?
Options:

1) Canning

Far

2) Dalhousie

ECEE])

3) Ripon

Raet

4) Elgin

ur=ic

Correct Answer: Canning
FHiar

Candidate Answer: [ NOT ANSWERED ]

Question 41.Which river in the Southern Peninsula has the second largest river basin in India?

R o aferol urIgda % &leT-8 78 32 & g W 93 A6 &1 &1 fHor el § 2

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD c=&appid=1a4fff78943b24af40c79deccf09bb87 14/28
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Options:
1) Godavari
BIEACEY
2) Krishna
T
3) Cauvery
FAdr
4) Mahanadi
FETTET
Correct Answer: Godavari
TMeradt
Candidate Answer: Krishna
Easul)

[

Question 42.Which among the following has the maximum life span

Pt # & #i adifoes aeig & ?
Options:

1) Eagle

Eic)

2) Tortoise

FEIHT

3) Tiger

dar

4) Elephant

grir

Correct Answer: Tortoise
@3-”

Candidate Answer: Tortoise
HYIT

Question 43.Which one of the following is a water soluble vitamin?

TefalEd & & leT-a1 STef & gelraren e g ?
Options:

1)A

T

2)C

@&

3)K

ES

4)D

ar

Correct Answer: C

r

Candidate Answer: C
«r

Question 44.Biofortification is a

STTTAROT F FIT ACIT § ?

Options:

1) method of breeding crops to increase their nutritional value
Sl T GifSThdT & TaelaT T 3cuiesT Tgia

2) strategy to combat unwanted nutrients in plants

9y 7 3eTaTe GV T TfddR Sl I Aot

3) method of developing resistance to insect pests

ATt et A TFaRIER a7aT sl aer i agfa

4) method of plant breeding for disease resistance

7 el dier fewfaa e i agfa

Correct Answer: method of breeding crops to increase their nutritional value
HHa I difeehdT & Hatle $T 3curesT ggia

Candidate Answer: method of breeding crops to increase their nutritional value

el T SifSeahar & FaHe I 3cuTee Tgia

Question 45.The force which makes a vehicle to stop when break is applied is called

§h T IR dTgeT ol AUdhoT Aol Sof T AT Hgd & ?
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Options:
1) gravitational force
T&cdia el
2) vander-walls force
dest-aleq 5ol
3) frictional force
YT FoT
4) co-valant force
TGSt ol
Correct Answer: frictional force
YT FoT

Candidate Answer: frictional force
YT ol

Question 46.Synthetic detergents are prepared from

TiReTsT TaTTelsh fhady SR vy s & 2
Options:

1) potassium salts of higher fatty-acids
oI G137 aTel MefATe dlee

2) sodium salts of higher fatty-acids

3TT g1-37F dTet AT Alee

3) hydrocarbons of petroleum

Yo & grggieesT

4) glycerides

[EERREES)

Correct Answer: hydrocarbons of petroleum
Yoo & grgieresT

Candidate Answer: [ NOT ANSWERED ]

Question 47.All doubts and disputes in connection with election of the President are inquired into and decided by

TS o YATd & Tt ¥ 31 dTel Fll T d Faarel 1 Siier gscilel d 0 oo qaRT oy St & 2
Options:

1) the Election Commission

AT AT

2) the Supreme Court

FafeT =arTery

3) the Parliament

pararcy

4) Prime Minister

T Fear

Correct Answer: the Supreme Court

Tafea =amme™

Candidate Answer: the Election Commission
AT AT

Question 48.Name the longest lake in India?

AR T T Tl el led-TN g ?
Options:

1) Pangong lake

Hatiar sfrer

2) Pulicat Lake

el gher

3) Kolleru Lake

Flere Sl

4) Vembanad Lake

JIATG ST

Correct Answer: Vembanad Lake
I ST

Candidate Answer: [ NOT ANSWERED ]

Question 49.Red Data Book provides an account of

5 a1 o # frear fawor aot g § ?
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Options:

1) extinct animals only

et fareed SieTari

2) endangered plants & animals

Heheard aiet 7 Sfat &1

3) endangered plants only

Fadl Teheaed aiet Fr

4) fossil plants

et & Sharea @

Correct Answer: endangered plants & animals
Heneared Wit I Shat &1

Candidate Answer: endangered plants & animals
Hereared diel g Shat a1

Question 50.Suez Canal connects

FT A Foreent fAemdr & ?

Options:

1) Red Sea and Arabian Sea

ollel 99X 9 3R ER

2) Red Sea and Mediterranean Sea

|Tel APR g AT AR

3) Arabian Sea and Mediterranean Sea

3RT AR T 3T TR

4) North Sea and Baltic Sea

3cadl APR T sifecs TR

Correct Answer: Red Sea and Mediterranean Sea
Wel AP T AT AR

Candidate Answer: Red Sea and Mediterranean Sea
dlel AER AT TR

Question 51.A and B together can complete a work in 24 days. B alone does 1/3rd part ofthis work in 12 days. How many days will A alone take to complete the
remaining work?

A 31X B Ao forel e T 24 foeT 3 1 a0 et &1 B 38 1 &7 1/3 1T 12 ot 3 G X FohelT §1 31heT A A1 1T & fafctel f&eT 3 o e ?

Options:
1) 24

2)36
3) 48

4)72
Correct Answer: 48
Candidate Answer: 48

Question 52.The heights of a cone and a cylinder are equal. The radii of their bases are in the ratio 2:1. The ratio of their volumes is:

T i AT U FHAUST &1 Sl e §1 3o AR 1 AT 2:1 3 39 7 §1 37 ITIciat o1 3Fedrd 2T grer ?
Options:

1) 4:3

2)3:4

3)2:1

4)1:2
Correct Answer: 4:3
Candidate Answer: 4:3

Question 53.A shopkeeper marks his goods 50% more than the cost price and allows a discount of 25%. His profit or loss percentage is:

Teh GehTeIER =T 31 O oIl #ed & 50% 378 Fedr 3ifehet T ¢ 3 25% T ge T &1 SHhT oIt AT gliet FALrT fohet=r gram ?

Options:

1) 37.5%

2) 25.5%

3) 12.5%

4) 25%

Correct Answer: 12.5%
Candidate Answer: 12.5%

Question 54.A school has 8 periods of 45 minutes each, every day. How long will each period be if the school has to have 9 periods everyday, assuming the working
hours to be the same?

T Tl A affee 45 e % 8 fitws g 81 afe e  wfafeer 9 s &1 3k 95 A & a4 @A § o ucde iars frde ere & g ?
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Options:
1) 40 min
40 e
2) 35 min
35 e
3) 30 min
30 fAeTe
4) 45 min
45 e

Correct Answer: 40 min

40 &I

Candidate Answer: 40 min
40 fAee

Question 55.If the ratio of the cost price and the selling price of an article be 4:5, then the percentage of profit is:

T TR o o o o 3 TR oo 4:5 o 37T # 8, oY o 7 TicTerel &7 g1a ?

Options:
1)

1
27

2

2)25
3)15

4) 10
Correct Answer: 25
Candidate Answer: 25

Question 56.In an ornament the ratio of gold and copper is 3:2. The percentage of gold in the ornament is:

e STSTOT 31 T T AT &7 T 3:2 §1 IMSLIOT F WX &7 wfvaret FciaAr §2

Options:
1) 60

2) 40
3) 30

4) 20
Correct Answer: 60
Candidate Answer: 60

Question 57.A boat moves down stream at the rate of 8km/hr. and upstream at 4Km/hr. The speed of the boat in still waters is:

Teh ofTd &IRT 1 &R0 o 3feTehel 8 o, 1. /ET0CT &Y =Tel & TTofcll § 7T &IRT 3T e o Wlcteper 4 Toh. 0. /0t 1 =iTel | LMot STor # o1y b =/Tef 747 gIafy ?

Options:

1) 4.5 km/hr.

4.5 ../ guer

2) 5 km/hr.

5 ../ guer

3) 6 km/hr.

6 fr.#./ Tuer

4) 6.4 km/hr.

6.4 for.30,/ guer

Correct Answer: 6 km/hr.
6 fan. 7./ Tuer

Candidate Answer: 6 km/hr.
6 7.3/ "ver

Question 58.
If V/3%= 2187 then the value of n is

afg V3n = 2187, a n & AW IA0|

Options:
1) 13

2) 14
3)15

4) 16
Correct Answer: 14

http://thepracticetest.in/challengesystem/response_questions.php?t_id=MD c=&appid=1a4fff78943b24af40c79deccf09bb87
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Candidate Answer: 14

Question 59.

If x<i=5, then find the value of ——=
=

xTEx+1

AR x+2 =5, A 2 & FA gem?

w41
Options:
1)3
2)2
3)1

4)0
Correct Answer: 1
Candidate Answer: 1

Question 60.Which one of the following combination of measurements can form the sides of a triangle?

A o a1w A & wogh 7 A heT-ar fached e RegsT S o[e? e FehaT 87
Options:

1)9cm, 6cm, 2cm

9 w4, 6 WA, 2 T
2)11cm,3cm, 12 cm

11 &3, 3.9, 12 3.9
3)3cm,5cm, 8cm

3.7, 5 8.3, 8 T

4)5cm,7cm, 13 cm

538, 79, 13 8.

Correct Answer: 11 cm, 3cm, 12cm
11 &4, 384, 12 3.

Candidate Answer: [ NOT ANSWERED ]

Question 61.In a right angled triangle if hypotenuse is 20 cm and ratio of other two sides is 4:3, the length of the sides are

T3l Fenvi gt & I ot 20 Ao, &1 31X 317 &) 3t of Iguret 4:3 , Y o3t hr ohars foctetl § 2
Options:

1)4cmand 3 cm

4 3.7 3R 3 J

2)8cmand 6 cm

8 {7, 3R 6 7.

3) 12.cm and 9 cm

12 34 AR 9 T

4) 16 cm and 12 cm

16 T AR 12 @

Correct Answer: 16 cm and 12 cm
16 I3 3 12 A

Candidate Answer: 16 cm and 12 cm
16 @& 3w 12 @

Question 62.If sinA + sin?A =1 then what is the value of cos?A + cos*A ?

& sinA + sin?A =1 8 &Y cos2A + cos*A &T AT &= glerr ?
Options:

1) %

2)1

3)2

4)3
Correct Answer: 1
Candidate Answer: 1

Question 63.The least number which when divides 37044, gives the result a perfect cube, is:

IE T DI FEAT AT & FTGd 37044 1 #7197 et I TROTAT HE&aT gt o1 red 81 ?
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Options:
1)2

2)4
3) 14

4) 21
Correct Answer: 4
Candidate Answer: 4

Question 64.A man spends in 8months as much as he earns in 6 months. He saves Rs. 6000 in a year. His average monthly income is

FIS TTF 8 AL H 31T TF T & FIcd=T [ Ig 6 AL 3 HAAT §| I U ¥ 3 Rs. 6000 T T §| 3T 3 AAH 37 foheall & ?
Options:

1) Rs. 2400

2) Rs. 2000

3) Rs. 2150

4) Rs. 1800
Correct Answer: Rs. 2000
Candidate Answer: Rs. 2000

Question 65.
Ifa=v2+1and b = 2-1 then the value of — + — will be

1
a+1l b+1

T a=V2 + 1 3Tb=\2-1 & ﬁjtiﬂwg’l?rr?

h+1
Options:
1)0

2)1
3)2

4) -1
Correct Answer: 1
Candidate Answer: 1

Question 66.
= a = b
(x+2)(2x+1) 2x+41 x+2

value of b is

be an identity,then the

Ffg ——= 21 2 @ daf b A R

{x+z)(2x+1)_ 2x+1 x+2
Options:
1)0

2)-1
3)2

4)3
Correct Answer: -1
Candidate Answer: -1

Question 67.

I ntriangle ABC, #BAC=90"and AD is perpendiculartoBC

If AD=6cm and  BD=4 cm thenthelength of BCis

Ueh AT ABCH, £BAC = 90°3R AD, BCHI o d Gl

Tfe AD=6cm 3T BD=4 cm ,d7 BC T o fnica gifd?
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Options:
1) 10 cm
10 &7
2) 12 cm
12 3.
3) 13 cm
13 &
4) 15cm
15 &

Correct Answer: 13 cm

13 4.

Candidate Answer: 13 cm
13 a5

Question 68.D and E are the points on the sides AB and AC respectively of a AABC and AD = 8 cm, DB = 12 cm, AE= 6 cm and EC = 9 cm, then BC is equal to:

D 3iX E weh AABC &1 ${T3il AB 3T AC TR shamer:faieg € 31 AD = 8 @.ft,, DB = 12 4.#, AE= 6 WL 3 EC = 9 9.3, g oY BC foverh sk § 2

Options:
1)

2

EDE
2)

3

EDE

3)
2

> DE
4)
2
= DE
Correct Answer:
5
= DE
Candidate Answer:

3
EDE

Question 69.
ABC is a right angled triangle with £4 = 90" Then the value of ros® 4 + cos® B +cos® € is

ABCUS HFhIoir B &, oA 24 = 90°)
Bl (cos?A +cos 2B+ cos2C) o HIT 4T GHaN?
Options:

1)2

2)1

3)0

4)3

Correct Answer: 1

Candidate Answer: 1

Question 70.In what time(in years) will Rs. 8000 amount to Rs. 9261 at 5% per annum,compounded annually?

Rs. 8000 &1 R 5% 1 AT &X & ATS TohgTe saTel & & fahcter Forar (awif) 3 Rs. 9261 gY Swsh ?

Options:
1)3

2)
o
2
3)4
4)
"
2
Correct Answer: 3
Candidate Answer: 3
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Question 71.From the top of a 20 m high building, the angle of elevation of the top of a tower is 60° and the angle of depression of it's foot is at 45°, then the height
of the tower is (V3=1.732)

20 7. S AR & AT A, Rl efaX & MY T IeaATeT 0T 60° & 37T TTeell I 3Tl HIOT 45° &, A eaR I 318 fhdeir & ? (V3=1.732)
Options:

1)45.46 m

45.46 7.

2)45.64 m

45.64 7.

3) 54,64 m

54.64 &,

4) 54,46 m

54,46 .

Correct Answer: 54.64 m
54.64 #.

Candidate Answer: 54.64 m
54.64 #I,

Question 72.Study the chart and answer the questions. The pie chart given below shows the expenditure incurred in bringing out a book by a publisher.

3 AE F eI RfT 3R et & 3o ST | A1 T 38 018 a1E 7 T TR ST Ueh TESh & TR # fRT 1T T o geirar T §

Printing
42%

4%
Binding

Paper 16%

Canvassing
24%

Royality

What is the central angle showing the cost of paper

TS S ST T ERAToT TS Pt 10T ST HIT FAT & ?

Options:
1) 16°

2) 320
3) 38.9°

4) 57.6°
Correct Answer: 57.6°
Candidate Answer: 57.6°

Question 73.Study the chart and answer the questions. The pie chart given below shows the expenditure incurred in bringing out a book by a publisher.

39 T T LT AT 3R Tt & 3ear AT Al AT 56 U1 =1 #H T JohRieh GaRT Ueh J&Aeh o YRl # T a1w @) o gefra o &

Printing
42%

4%
Binding

Paper 16%

Canvassing
24%

Royality

If the cost of printing is Rs. 16,800 , the royalty is

IS HEuT B SET Rs. 16800 &, AT e fehcialt gial ?
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Options:
1) Rs. 2400

2) Rs. 3200
3) Rs. 4800

4) Rs. 8400
Correct Answer: Rs. 4800
Candidate Answer: Rs. 4800

Question 74.Study the chart and answer the questions. The pie chart given below shows the expenditure incurred in bringing out a book by a publisher.

38 T T HEGTA HISU 3R weatl & 3ear QTS| e faw 58 ur$ a1 H Ueh Yehrieh SaRT Ueh G&cieh o YRl & fohu av @ o gxfiar arar &

Printing
42%

4%
Binding

Paper 16%

Canvassing
24%

Royality

Royalty on the book is less than canvassing expenditure by

T T ATeL, 3HF TIR-G ¥ st gfderd w8 2
Options:

1) 25%

2) 50%

3) 24%

4) 12%

Correct Answer: 50%

Candidate Answer: 50%

Question 75.Study the chart and answer the questions. The pie chart given below shows the expenditure incurred in bringing out a book by a publisher.

3H I & JEATA RS 3 et F 3eaw AT | A v g0 o18 a1 3 UaF T qaRT vk IS & TeRi 3 RT e @ i grifar g

Printing
42%

4%
Binding

Paper 16%

Canvassing
24%

Miscellaneous

Royality

If miscellaneous expenditures amount to Rs. 12000, the expenditure on canvassing will be

fe fafaer @< Rs. 12000 &Y, a7 ToOR-T =1 gm ?

Options:
1) Rs. 80000

2) Rs. 144000
3) Rs. 468000

4) Rs. 405000
Correct Answer: Rs. 144000
Candidate Answer: Rs. 144000

Question 76.1In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

NEFARIOUS
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Options:

1) EXCITED

2) WICKED

3) RIGOROUS

4) BENIGN

Correct Answer: WICKED

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
toit.

INSULAR

Options:

1) COSMOPOLITAN

2) ISOLATED

3) NARROW

4) PAROCHIAL

Correct Answer: COSMOPOLITAN

Candidate Answer: COSMOPOLITAN

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Acommodate

2) Accommodate

3) Acomodate

4) Accomodate

Correct Answer: Accommodate

Candidate Answer: Accommodate

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

My friend's actual job (A) / involves a lot (B) / of administration. (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: D

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The students refused (A) / to accept responsibility (B) / for their acts (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

It is not possible for me (A) / to give you the accurate date (B) / of my departure yet. (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I waited the train arrived.
Options:

1) as

2) until

3) since

4) after

Correct Answer: until

Candidate Answer: until
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Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

He loves you than me.
Options:

1) closer

2) nearer

3) higher

4) more

Correct Answer: more

Candidate Answer: more

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The squadron leader ordered his men to immediately.
Options:

1) fall in

2) fall out

3) fall off

4) fall on

Correct Answer: fall in
Candidate Answer: fall off

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Put up the shutters
Options:

1) Went out of business

2) Experienced a downside
3) Sold off assets

4) Changed ownership

Correct Answer: Went out of business
Candidate Answer: Went out of business

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

A drop in a bucket

Options:

1) As much as possible

2) Nothing at all

3) A handsome amount

4) A very insignificant amount

Correct Answer: A very insignificant amount
Candidate Answer: A very insignificant amount

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Draw a blank
Options:

1) Paint something
2) Find no favour
3) Oblige someone
4) Teach someone

Correct Answer: Find no favour
Candidate Answer: Find no favour

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person who is new to a profession
Options:

1) Expert

2) Coach

3) Tutor

4) Novice

Correct Answer: Novice
Candidate Answer: Novice

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

That which makes one highly knowledgeable
Options:

1) Erudition

2) Irreverence

3) Irritability

4) Impulsiveness

Correct Answer: Erudition
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Candidate Answer: Erudition

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A state of emotional or intellectual separation
Options:

1) Euphoria

2) Ecstasy

3) Alienation

4) Communion

Correct Answer: Alienation

Candidate Answer: Alienation

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Anyone wishing to enroll in the programme should send in there applications before the end of this month.
Options:

1) send in her application

2) send her application in

3) send in their applications

4) No improvement

Correct Answer: send in their applications

Candidate Answer: send her application in

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Do you mind me leaving this payment until next year?
Options:

1)1

2) my

3) mine

4) No improvement

Correct Answer: my

Candidate Answer: my

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

As you grow older, you will find that these all difficulties may be overcome by patience.
Options:

1) these all difficulties may overcome with patience

2) all these difficulties may overcome through patience

3) all these difficulties may be overcome with patience

4) No improvement

Correct Answer: all these difficulties may be overcome with patience

Candidate Answer: all these difficulties may be overcome with patience

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

Sita didn't so far as blink when she heard she had won the scholarship to Cambridge.
Options:

1) so much as

2) as far as

3) as good as

4) No improvement

Correct Answer: so much as
Candidate Answer: as far as

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

When the architect won a prize in a play-writing competition his friends admired his universality.
Options:

1) durability

2) versatility

3) respectability

4) No improvement

Correct Answer: versatility

Candidate Answer: versatility
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Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Awareness means the capacity to see a coffee pot and hear the birds sing in one's own way, and not the way one was taught. It may be assumed on good grounds
that seeing and hearing have a different quality for infants than for grownups and that they are more aesthetic and less intellectual in the first years of life. A little boy
sees and hears birds with delight. Then the 'good father' comes along and feels he should 'share' the experience and help his son 'develop'. He says, "That's a jay
and this is a sparrow." The moment the little boy is concerned with which is a jay and which is a sparrow, he can no longer see the birds or hear them sing. He has
to see and hear them the way his father wants him to. Father has good reasons on his side: since few people can afford to go through life listening to the birds sing,
sooner the little boy starts his 'education’ the better. Maybe he will be an ornithologist when he grows up.

What does the writer mean by 'awareness'?

Options:

1) The capacity to see as one is taught.

2) The capacity to see and hear things in one's own way.

3) The ability to see and feel things as they are in the present.
4) The ability to see and hear things as other people do.

Correct Answer: The capacity to see and hear things in one's own way.
Candidate Answer: The capacity to see and hear things in one's own way.

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Awareness means the capacity to see a coffee pot and hear the birds sing in one's own way, and not the way one was taught. It may be assumed on good grounds
that seeing and hearing have a different quality for infants than for grownups and that they are more aesthetic and less intellectual in the first years of life. A little boy
sees and hears birds with delight. Then the 'good father' comes along and feels he should 'share’ the experience and help his son 'develop'. He says, "That's a jay
and this is a sparrow." The moment the little boy is concerned with which is a jay and which is a sparrow, he can no longer see the birds or hear them sing. He has
to see and hear them the way his father wants him to. Father has good reasons on his side: since few people can afford to go through life listening to the birds sing,
sooner the little boy starts his 'education’ the better. Maybe he will be an ornithologist when he grows up.

How do children perceive things around them?
Options:

1) Aesthetically

2) Intellectually

3) Emotionally

4) Morally

Correct Answer: Aesthetically
Candidate Answer: Aesthetically

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Awareness means the capacity to see a coffee pot and hear the birds sing in one's own way, and not the way one was taught. It may be assumed on good grounds
that seeing and hearing have a different quality for infants than for grownups and that they are more aesthetic and less intellectual in the first years of life. A little boy
sees and hears birds with delight. Then the 'good father' comes along and feels he should 'share’ the experience and help his son 'develop'. He says, "That's a jay
and this is a sparrow." The moment the little boy is concerned with which is a jay and which is a sparrow, he can no longer see the birds or hear them sing. He has
to see and hear them the way his father wants him to. Father has good reasons on his side: since few people can afford to go through life listening to the birds sing,
sooner the little boy starts his 'education’ the better. Maybe he will be an ornithologist when he grows up.

What would the 'good father' do?

Options:

1) He would teach his son the way of the world.

2) He would share and feel his son's experience.

3) He would share his experiences and help his son 'develop'.
4) He would tell his son to live his way.

Correct Answer: He would share his experiences and help his son 'develop'.
Candidate Answer: He would share his experiences and help his son 'develop'.

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Awareness means the capacity to see a coffee pot and hear the birds sing in one's own way, and not the way one was taught. It may be assumed on good grounds
that seeing and hearing have a different quality for infants than for grownups and that they are more aesthetic and less intellectual in the first years of life. A little boy
sees and hears birds with delight. Then the 'good father' comes along and feels he should 'share' the experience and help his son 'develop'. He says, "That's a jay
and this is a sparrow." The moment the little boy is concerned with which is a jay and which is a sparrow, he can no longer see the birds or hear them sing. He has
to see and hear them the way his father wants him to. Father has good reasons on his side: since few people can afford to go through life listening to the birds sing,
sooner the little boy starts his 'education’ the better. Maybe he will be an ornithologist when he grows up.

What does an Ornithologist study?
Options:

1) Birds

2) Insects

3) The different species of plants
4) Fish

Correct Answer: Birds
Candidate Answer: Birds
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Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Awareness means the capacity to see a coffee pot and hear the birds sing in one's own way, and not the way one was taught. It may be assumed on good grounds
that seeing and hearing have a different quality for infants than for grownups and that they are more aesthetic and less intellectual in the first years of life. A little boy
sees and hears birds with delight. Then the 'good father' comes along and feels he should 'share' the experience and help his son 'develop'. He says, "That's a jay
and this is a sparrow." The moment the little boy is concerned with which is a jay and which is a sparrow, he can no longer see the birds or hear them sing. He has
to see and hear them the way his father wants him to. Father has good reasons on his side: since few people can afford to go through life listening to the birds sing,
sooner the little boy starts his 'education’ the better. Maybe he will be an ornithologist when he grows up.

The passage implies that when the boy starts his 'education' he will _____ .
Options:

1) have a more aesthetic outlook

2) be able to identify a jay and a sparrow

3) see and hear the bird's song with delight

4) have a more intellectual outlook

Correct Answer: have a more intellectual outlook
Candidate Answer: have a more intellectual outlook
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